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General Instructions:

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in the
Question Paper are the same as those printed on the top of the first page. Also check to see that the questions are
in sequential order.

3. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the specified
places will lead to disqualification of the candidate.

4. Write your Question Paper Code No. 68 / ESS /1-A on the Answer-Book.

5. (@)  The Question Paper is in English/Hindi medium only. However, if you wish, you can answer in any one

of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati, Konkani,

Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the Answer-Book.
(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility for any

errors/ mistakes in understanding the question will be yours only.

6. In case of any doubt or confusion in the question paper, the English Version will prevail.
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ENVIRONMENTAL SCIENCE (Theory)
gierut fagme (fagia)

(333)
Time : 3 Hours | [ Maximum Marks : 80
U : 39U ] [ gutiek : 80
Note : (i)  All 39 questions are compulsory. Maximum mark of each question has been indicated

against it.

(i) There will be internal choice in some questions for core and optional modules related
questions. Attempt any one part of these questions having internal choice.

(i) Answer the questions from either Optional Module-8A or Optional Module-8B only.

(iv) Questions from 1 to 16 (13 Core Modules and 3 Optional Modules) are Objective
Question Type-I questions (MCQs) carrying 1 mark each.

(v)  Questions from 17 to 24 (5 Core Modules and 3 Optional Modules) are Objective Question
Type-II questions (comprehensive questions with two subparts, VSA, 1 word, fill in the
blanks and True/False) carrying 1 mark each.

(vi) Questions from 25 to 32 are short Answer-type Questions from Core Modules carrying
2 marks each with 40-50 words.

(vii) Questions from 33 and 34 are Long Answer Type-I questions from Core Modules carrying
4 marks each with 80-100 words.

(viii) Questions from 35 and 36 are Long Answer Type-II questions from Core Modules
carrying 5 marks each with 100-150 words.

(ix) Questions from 37 to 39 are short Answer-Type questions from Optional Modules
carrying 2 marks each with 40-50 words.
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NOTE / a9t :

(I) Answers of all questions are to be given in the Answer-Book given to you.
Tt Tl o ITR AR S TS IR-YRaen § & ford |

(2) 15 minutes time has been allotted to read this Question Paper. The Question Paper will be
distributed at 2 : 15 p.m. From 2 : 15 p.m. to 2 : 30 p.m., the students will read the Question
Paper only and will not write any answer on the Answer-Book during his period.

T Y- & Ued & fow 15 faea 1 ww feon mn §1 w1 1 faaRor S § 2: 15 5 feeen
ST 2:15 &9 9 2 : 30 991 T S hadd YA-UF Tl 97 IR 9 3764 & IRH o IW-JRaahl |
HIE IR & feraT |

CORE MODULES
hfvgeh AISTA
OBJECTIVE QUESTIONS TYPE - I

TS U9 YehtT - 1

1.  Which human ancestors made better tools with stones ? 1
(A) Homo sapiens (B) Homo erectus (C) Homohabilis (D) Australopithecus

ool § g SR AT TS oS hid 9 ?

(A) B afe (B) Bl 3RH (C) 2 Telifed (D) STEafadwy

2. The most glaring of all oceanic pollution is due to : 1
(A) Oilspill
(B) Dumping of hazardous waste
(C) Rivers carrying chemical and trash

(D) Coastal activities

ot TR YguOl | T SAfeh YaraE Uguul 36 R Al ©
(A) W fEE

B) WHeaRh emfme W

(
(C) TP 3R FHel W SHaTe! Afear
(D) W Tfafafemr
3.  Among the following the symptom is not related to blue baby disease : 1
(A) Poor feeding (B) Increased energy
(C) Decreased energy (D) Sleepy
frefafea @l § § o8 o1 dsr s &t 1§ Heiferg 78 72
(A) 3fed b 7 fae (B) @I g8 ol
(C) =g (D) @i S

(1. =1
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4.  The evolutionary force which brings about greater reproduction of adaptive variation is ?

(A) Extinction (B) Isolation
(C) Natural selection (D) Variation
foeRraaTet ot Sl ST ehett fafasaisti w1 21fys gaecded o © 2
(A)  foretre (B) A
(C) TR (D) fafaermr
5.  Which among the following is a characteristic feature of urban communities ?
(A) Joint family system (B) Individualism
(C) Illiteracy (D) Jajmani system
frfafea § 9 ®H w8l F9erl = T fafme fogma § 2
(A) HIH IRAR (B) wAfRIaTS
(C) e (D) TSI YoTedt
6.  An agriculture practice which involves enhancing crop productivity in the land with the use
of agricultural implements and agrochemicals is :
(A) Extensive agriculture (B) Eutrophication
(C) Siltation (D) Intensive agriculture

Th i Tl S FHit ITwton 3iR i TRl o ST 9 4 H FEel el i JeMl wha
?:

(A) =ATH Hi (B)  FSITthehH (Ul Teiter )
(€ = (D) T Y
7. A 12,000 year old practice of food production which causes extreme deforestation is :
(A) Shifting cultivation (B) Urbanization
(C) Commercial cultivation (D) Indigenous cultivation
WY IATEA S 12,000 T8 AT T 51 STATHE 1 bt hele b1 HRU A S
(A) T H (B) ¥R
(C) nforfsren i (D) AR el
8.  Ecologically vegetation of the major part of Thar desert region falls under the category of :
(A) Succulents (B) Shrubs
(C) Deciduous trees (D) Thorn forest type
iferfaen gfic @ R weeae & & Tfehisr 9T § geafd 9 9uft § ot © ¢
(A) wH (B) el
(C) T a7 (D) HIER T

(1. =1
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9.

10.

11.

12.

Making wooden boxes from various tree species for transporting apples has resulted in :

(A) Desertification (B) Forest degradation

(C) Urbanisation (D) Biodiversity enhancement

Taif & aftesd % foe fafi= yenfell & 9 @ Tt & 9 oM % TRUTHEET I8 I T
(A) FEECHTRI (B) = 1 &Rl

(C) &l (D) & fafaear dag=

The chemical responsible for the minamata disease is :

(A) Mercury (B) Arsenic (C) Lead (D) Copper
AT T % fog forier e 2
(A) N (B) oTHfT (C) g (D) dfsT

Chemical pesticides are considered harmful because :
(i)  they cause river pollution

(i) their concentration increases through the food chain

(iii) they are carried away by run-off water from fields to lakes and pollute ground water

Select the most appropriate option :

(A) (i), (i) and (ii) (B) (i) and (iii)

(C) (ii) and (iii) (D) (i) only

T iR hl IR HIHT S © TR |

(i) o TSI TgH T HI T G |

(i) T T % HEAH Y IAh! THRIT (Higdl) 9¢ St T

(iii) o Sl 9 I e h W S § 9o 9§ IR e Sl g N ¢ |
ol EXREN fashed 1 @ﬁl’Q :

(A) (i), (i) 3T (i) (B) (i) 3R (i)

(C) (i) 3 (i) (D) (i) %

Identify insitu conservation of bio-diversity among the following :

(A) Wildlife sanctuaries (B) Botanical garden

(C) Zoos (D) Medicinal plant park
Sia-fafaua & frereeria e 3g fFr=fafed surl &t wgem Sife
(A) o Sfa IR (B) o edfdsh &M

(C) fafearr (D) it dien 9

]
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13.

14.

15.

Which statement is incorrect regarding crop rotation ?

(A) Crops requiring less manure should be sown after the one that requires more manure.

(B) Crops that require less water should be grown after the one that requires more water.

(C) Leguminous crop is to be grown before non-leguminous crop.
(D) Crop rotation pattern-green gram-wheat-moong.

THA TR0 Sk HeY H HIA-HT HYF Told & ?

(A) Y IS i ATTLIRAT el HEA Sl ek WIS i TRl Al A 6 o1 s <AMMeT |
(B) o el =t fordi Bt ohm urlt (=) bt stk € 3= stfursk f=mg (dt) i /& et

Tl & g ST =feu |

(C) heleR wHal ol IR FelleR HHal o 1% & sl =1fed |
(D) A ok % T Hfaeu-al o - -F |

OPTIONAL MODULE - A
dehfcaeh AIETe - A

(WATER RESOURCE MANAGEMENT)
(ST HHTEA Jaler )

World’s shortage of water is due to :
(a) Irrigation demand
(c) Wastage of water

(A) (a), (b) and (c)

(©) (a),(b), () and (d)

forea o et i HH H HRO T
(a) T&=g =t =i

(c) T R T

ST H § a9 Suga foaehed Hl =T H

(A)  (a), (b) 3 (c)
©) (@),(b), (c) R (d)

Industrial demand
Pollution of water
Select the most appropriate option from the above :

(c) and (d)

Sirenfies A

The four main components of harvesting rain water at household level is in the following 1

correct sequence :

o0

(
(
(
(

~

A) Storage, collection, maintenance, distribution
B) Collection, Storage, distribution, maintenance
) Maintenance, Storage, distribution, collection
) Collection, maintenance, distribution, storage

Frefafed o 9 SR ¥ R 991 STal 992 o 91 & 9 590 §el oA H ¢

68/ESS/1-333-A |

(A) HURY, THA HtHl, W@, oo
(B) QEF%HW, FL‘;I%'UT, %R-R'UT’ ELCILCIE]
(C) TER@rE, GUgYl, faeuo, Thisd
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16. High level of fluoride in water can be removed at household level by :

(A) Chlorination (B) Passing ozone

(C) By using microstrainers (D) Adding alum, lime and bleaching powder
A TR R I H FAREE & I TR I 5 T | S ST Fhal © -

(A)  FARATH (B)  SAISIM 1 He

(C) WIS =l JAT] (D) firesdl, 91 iR sefife areet fiamt

OPTIONAL MODULE - B

dehicaeh AT - B
(ENERGY AND ENVIRONMENT)
(=1 Td u"iawoT)
14. Generation of electricity by using the force of falling water is called :

(A) Tidal power (B) Wind power
(C) Hydel power (D) Geothermal power
IR it o =it 1 SR e ferstelt §aT S shear ©
(A) IR FHSl (B) Tad Kl
(C) o (D)  qrdia s

15. Jatropa curcas is known to be a petro crop as it is :
(A) Untfit for eating by humans or animals
(B) Grown on land fit for agriculture
(C) Hydrocarbon producing plant and an ideal alternative energy source.
(D) Produces petrol like secretions

TN Y ! U HHA & TI H AT S0 T Fifeh I8

(A) Wl A1 9 R T o T g ¥

(B) % forw S it o SN TN E

(C) TIESIHTEA 3cueeh G931 3R Ueh 3Tyt dehfeush el @ ¥ |
(

)
D) Ui ST BE 3 T B

16. A teacher suggested the students to replace ordinary bulbs at home with CFL bulbs as this

action will help by :
(A) Energy loss reduction (B) Process modification
(C) Reducing light load (D) Energy auditing

T Treteh 1 BT ! SR H WIER0 desll o T TR 9 Th Td 909 o @l Yoid fed =it 399 7eg
et god -

(A) Tl B F et (B) Wishan HE

(C) forteft &1 YR &7 & (D) Sl oRa S
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CORE MODULES
e aigga
Objective Question Type - II

TS U9T TR - 11

17. Write two criteria for determining a hot spot. 2

giewie fuifa & & foau < arHee fafan)

18. Answer in one or two sentence. (15-20 words) 1x6=6
(A) Name one biodiesel yielding plant.
(B) What are the constituents of biogas ?

(C) Electrical appliances have BEE rating. In what way does it help in conservation of
energy ?

(D) Sustainable development is important for mankind. Why ?
(E) Blue green algae is considered as a bio-fertilizer. Justify.

(F) CNG for public transport vehicles was made mandatory in Delhi after passing of this
act in 1986. Name the act.

T 1 S 9 H W ST (15-20 T3)

(A) STEESA 3 9t Th 98 ol AT S8y |

(B) TR % Heeh 1§ ?

(C) Toreqa Suentoll # oigE YT Bielt B, =1 fore TR SooTl WReT0T § Wereh 2l © 2

(D) & fosh A Sfd & e weergel 8 1 =i 2

(E) it & Farel ol Sta 3k WA STl © | 59t Siifae fag sifsm

(F) 1986 H 39 Afuftaw o wiikd 81 & o< faeeht H wresfen afersa aredi o fag st sifam
S T, rfufrad @ am saEy)

EHE
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19. Answer the questions in one word. 1x6=6
(A) The study of size, growth, age, structure of a population.
(B) Succession that occurs on land where moisture content is low.

(C) A biotic component of ecosystem feeding on dead organic matter.

(D)

If autotrophs produces 100 Cal, herbivores will be able to store 10 Cal and carnivores
1 Cal. Identify the rule defined by Lindman in 1942.

(E) A transgenic rice variety which can be grown on saline soil and is enhanced with

Vit. A.

(F) A place where a river or a stream open into the sea and is a dynamic and productive
ecosystem.

e for@ gl o W T e | i)

A) SHUEA % DR, Jhg, 7Y, FEHA Fl AT |
B) U 9fy R A Al SIshuftreRTd ST T skt A S At ¥
C) Hd FEieh qered W qer aren mifEfaskt 93 w1 Sifasw wew |

D) af TR 100 HEART 1 G A & dl AMHERI SiTal 6l 10 HAR! a9 THRRT Siged i 1
HAR U BT |1 1942 § ey gry uRenfd fom &0t qe=m &)

(E) UH gt =ae &t fhen fod afem fagt o s s gehan § o) f99 vit. A 9 dafdd
T T 1

(F) o8 TIH el el a1 9iet oIR] 9g H foerdt § iR S ue nifaeiiet 3R Scarees wiftfeerfast @ 2|

~—"

(
(
(
(

20. Fill in the blanks by using the appropriate terms from the bracket. 1x4=4
(Coal dust, lead, auditory fatigue, malaria)
(A) Black lung disease is caused by inhalation of small amounts of

(B) Heavy metal known to cause toxic effects in living organism and cause neurological
damage is

(C) When noise level is in the range of 85 to 90 dB it may result in

(D) An example of disease transmitted by vector having symptoms of shivering chills and
sweating is

FHSF § T T 3o W] A ST Fh Rem v AR

(I o, TS(HET), Fau U, HAfEn)

(A)  FO FERE % SIh Ul I AR 9 6 g 3T o W E |

B)  iiferd Sfiall W fersem gt e iR dfzreht Heiedt &1 o1 ot o aelt 31 o1g § |

(

(C) <& ¥R 85 ¥ 90 dB & &R | 31fereh Sl § q91 STk IHomy B Gl

(D) hUehdl, 3 T IR T ST SI9 A&l aifed, SfeeX (UGUUl S hieTv[3ii) BRI JEma I
HT Teh ST © |

(1. =1
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21.

22.

23.

24.

22.

23.

24.

68/ESS/1-333-A ] 10 Ry

Identify whether the following statement is true or false. 1x3=3

(A) EIA is a tool for anticipating any harmful effects or developmental activities on the
environment.

(B) A protocol is an international agreement that does not stand on its own and is not
linked to any existing convention.

(C) Monoculture uses very less fertilizer, pesticide and water.

Trafafga wum 98t € a1 o, THH! T8 hifsTy |

(A) % 3TE T (EIA) Taiery R frdt ot gifterer g =1 foashrarersr nfdafafedi 61 qeiqae o
1 Teh ITHT |

(B) WIErhId Uk Ut SR Teafd € S @e 3197 oot W @el T Sl ¥, g 3k Hie[e THEia
o WY ot TR0 oY T |

(C) Thd Fft H Sgd HH Skeh, FHIARS TR T HT START Bl T |

OPTIONAL MODULE - A
dehfeaeh AT - A
(WATER RESOURCE MANAGEMENT)
(ST HHETeA Jale )
Algal bloom is not desirable for balanced aquatic ecosystem. What nutrients promotes this ?

Tqfea Seira TiRkfeafasht 9 & fog are a6 €138 SiF 9 1w dc e 3d § 2

Which are the two main techniques involved in rain water harvesting ?

Tl ST HerEd § WA & G qehrieh hid | § 2

Antitranspirants is a moisture conservation technique. Name any two antitranspirant.

fqemsiicdsieh Teh TH H&IU dehriteh & | frdt o} 2 ufaemsdicdsieh 1 19 <diEy |

OPTIONAL MODULE - B
dehfcaeh WTSTH - B
ENERGY AND ENVIRONMENT
(STl UE "FiawuT)

Tidal power has limitations as a source of electricity. Why ?

forsTelt & Ed & €9 T S 39l S 9EE § 1R 2

Why biomass energy is gaining significance ?

SR STl o1 e 31 o6 W61 ¢ 2

Ecohouse is an energy efficient building. Identify any two technologies used in this house
which makes it energy efficient.

TTETE Tk Sl H9T ARG 1 30 SR H SRIAA 1 TE fhgl o1 dehiiehl ! T8 i Sl 38 Soll
I S & |

]
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25.

26.

27.

28.

29.

30.

68/ESS/1-333-A ] 11 Ry

CORE MODULES - SUBJECTIVE PART
higd Algdd - (fawawe )

Modern influx of human population from villages to cities is a serious concern to urban
planners. Why ?

el & IR Y SR AT SIS 1 SR JalTg (STRTHA) Y&t ASHIeRRT o fere weh iR fefar ot
fow B 1 41 2

How is neutralism different from symbiosis ? Explain with an example.
ST SR FewIfiTn # o Sfd § 2 e T Wy |

SREI
How is a habitat different from niche ?

~

yTehfaeh atard, fehd @ fohg R fa=1 §2

IUCN has categorised threatened species into four categories. Name the four categories.

3¢ J T T (IUCN) A Fehel&d Fenfaal sl 9r it § sefidha fohan & 1 9 St 3 - saeu |

Biological diversity has social and cultural benefits. Discuss these social and cultural benefits.

Siferer fafaear & s IR gienfas oy €1 37 amifes IR giekfas el &1 Seora s |

What way will you adopt and propagate water conservation ?

39 STeT GX&T0 o ToTu hi 9 ok ST 37X SehT ToR hd] ?

What are the two main intent of biodiversity legislation ?

o fafaerd & % Qg Seed 7 ¥ 2
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31.

32.

33.

68/ESS/1-333-A ] 12 Ry

Mycorrhizal fungus has an important role in agriculture. Explain it.

Ff H AIEHRIESIA o i Teh Heaqul fiieht § | T Hifer |
OR / 379

A practice of growing different crops in regular succession in the same field controls insects
and increases soil fertility.

Answer the following questions :
(A) Which crop practice is this ?

(B) What is the name given when two or three different crops are grown in succession in
the same field ?

T & Ta ¥ fraftd e 9 fafi= wee S & gen, el ) s S © qen fag) @ saar agrt
7

o ford oAl o S S
(A) T8 HH H wEd TS T2
(B) <& T & VA H I AT A TH-3TeT el TR e It & ol 3§ 3 1 feam e § 2

Why is Environmental Impact Assessment (EIA) important ? What environmental
components are looked into by EIA ?

AR YTE STheT i Hew@qUl § 2 S 3T T (EIA) g foh aiferuii sreenl W eam fean s & 2
OR / r2raT

What does biodiversity act 2000 aims at regulating and when was the bill passed by
loksabha ?

Sta fafaean stfafram 2000 1 2w = faf@Etag s § 3R I8 f98ge die 991 g/ el ifid
Tomam T e ?

What is meant by green house effect ? Which three steps would be useful in reducing emission
of greenhouse gases into the atmosphere ?

2 e gara | 319 o I § 2 hH W o =R07 WA 2eE 9 e areft i v ardreRen § Sast
FHH HH | HEEE B Fhd © ?

OR / AT

When soil is said to be polluted ? What are the sources of soil pollution and how will you
control it ?

gt =1 weftd e et S © 2 gt wguor o i 7 € iR o1y 3 Y T a2
4
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34. As an environmentalist suggest some energy effeciency methods, which you will adopt :
(A) at home and (B) at your work place

(C) for transport (D) as a community
T R % w9 H 5w Sl qar faferi ey f o
(A) TR H (B) 319 &F A W

(C) TREsd & fag (D) Y % &9 H ST

35. (A) Suggest how different devices can be used in industries to control industrial pollution.
(B) Name the pollutant which can be removed.

(C) Also mention any two control measures to control industrial pollution.

(A)  irenfies wgu st e w o forg s § fafu= Suerell o6 swn 9 foran S wehd § 2

(B) 39 YguS I W fafEw 9 e S dehdl 7|

(C) oTEnfitr ygww = Fifa e o o fondt 1 e faferll =61 Seera sifsm

36. What are the three characteristics of Mangrove ecosystem which identifies them as a highly
productive ecosystems. Where are they found and also mention the names of natural calamities
from which they protect the shore line.

g miitfeafaent 9 st i foRivand =0 €, <7 S< STt Scaeess wikfefast o & 9 o geardt
T2 9 Fel UE W € IR S Wiehfaeh SAaereti o A oft Sand T 3§ aerEn it 67 hd § 2
OR / 3terar

Explain with a flow chart how homeostasis is maintained in a pond ecosystem.

T FAMR o Y THAT fof IRFETaent 951 % Tk qree § BEESTY (HHEAT) i T ®9 9
HY AT TGN S E ?

(1. =1
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OPTIONAL MODULE - 8A
Jehfeueh TSI - 8A
WATER RESOURCE MANAGEMENT
STl HHTEM Jaes

37. Define the term disinfection of water. List any two ways by which disinfection of water can 2
be done.

ST TorEshAT (SHITIENe) S8 skl YRUIYA Y | 5ol TorEshAvl o hig QI aleh el g i |

38. Suppose you are conducting a water audit of your house, which steps of water conservation 2
you will identify while conducting this audit ?

M ST 3719 3799 ¥R k1 ST 3fifee i W& 8, 39 3Aifed & S 3T STl G0 o shi= ¥ =01} <hl
TEa™ &l ?

OR / 3teran
Write one application of the following :

(A) Single stem harvesting

(B) Contour farming
frfafad % T sy o
(A) THT TH FIE

(B) HHI= Wl

39. What are the four changes that were brought in the face of Bhikampura in Alvar district by 2
Tarun Bharat Singh ?

TR TSel & fiRHqq e H 90 9Rd 68 51 AT 7T IR s 31 € 2
OR / 1%ran

List two examples of individual and community action on rain water harvesting in Gujarat.

o § 9l ST Hoad W AT SR FHEIIH HRAR! o a Il o it |

(1. =1
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OPTIONAL MOUDULE - 8B
ENERGY AND ENVIRONMENT

Yehfcdeh AISIE - 8B
ENIRCRDICi)
37. Write the disadvantages and advantages of use of geothermal energy.

AT sl < ST < T SR @ fafau

38. Write two examples where passive solar energy is utilised.

T4 < e fafey, sef e 9] w1 1 Sqam foran S 2 |
OR / 31eran

Write any four ways by which you would like to conserve energy while using microwave
ovens.

TTEShIAE 3TE T ST A THT SHo1l &I % hig =R ik fafEu |

39. Suggest energy conservation at community level for housing complexes.
e IRl ¥ HEIs TR W e GRerv & fore game e
OR / 3teat
What is the role of energy audit in conservation process ?

Teeqor Ufshan H STt oran aden (S R qfiree ¥ 2
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